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Assume suitable data if necessary, (Avogadro's No: 6.02X 1026 per kg mole)

Q.l Attempt any five
a Identify crystal structure if its density is 9.6 X 102 kg/m3 and trattice constant is 4.3
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'J p'-z'Note : Q.l is compulsory

Attempt any three from Q.2 to Q.6

ratio for Ligancy 3.
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Angstrom. (atomic weight 23)
b Explain the concept of hole? ln lntrinsic semiconductor if number of electrons in 3

conduction band is "x" find the number of holes in valence band

c Write the advantages of solar cell . ,' ' , . ' ,l-

dWhatismeantbyactiveandpassivedielectrics?'.'.''.
e Define the terms permeability, relative permeability and'quieeptilility with,reference to: : 3

magnetic materials.
f Explain Frankle defect in crystal imperfections. ' 

.: .

g In Piezo electric Oscillator what is the role of resonanc0?

Draw the unit cell of HCP. Derive (i) atoms/ unit cell (ii) atomic rafliuq (,i.ii) AP..f;, -,,,'

Explain the term "Ligancy" why certain ligancies'are nsfrpogsi"ble?€itlcii,lpte. Critical radius
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Write at least 2 points as comparison with electric

lOa m3 /C. Its resistively is 8.93 x
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